Advanced Algebra Chapter 6 Test Review B (6-3 to 6-5) Mrs. Dunphy

Name: Due the day of the test!

Instructions: Do all work on your own paper. ‘For problems that require multiple steps, show your work in
a clear manner. Transfer vour answers to this sheet. Papers without work will be counted as a ZERO. ©

Simplify. Assume that all radicals denote real numbers.

1, /5% = B <& /58 | 2. Y256 + Y108 + 10Y52 _____
3. 3420 + 545 + /75 B 4. J112x* — [Tx*
5. m@im® + Ymy) 7 ' | 6. (Vm — /n)?
1. (2 + VOWE - V) 8 W3+ 25
9. (W2 + VAT - W) - 10. @3 + YHED — D)
11. ﬁ ‘ N 12. i‘}f—j\}?
13, D2+ 35 14, Ya = Vb
V2 —- A5 | ' Va + /b
' - #15-27 ODDS ONLY!
Solve. If there are no solutions, so state. (You can use the evens for extra practice ©)
15. V3z — 5 =5 | 16. 3 = 12 + 5a
17. Ty + 3 = -1 | 18. V66 + 1 —2=0_
19. m: -2 20. 57 — 48 = &2 |
. VW T d-2=w 2. Yy =19 —2d + 11 = 0 |
23. 382 —6v+1=0 24. ¢ — 3Je = 10
25.-u=%~ﬂ3zz—-—_7 - 2. 8f =1 — 27
27.5(t — 3JH +3 =30 + 1) 28, {222 + 9 = /27




Simplify. Assume that all radicals denote real numbers.

1. /54 — 6 + /96 éf/
3-3xf_+5\/45+m;2f+s\@

5. 4m@Ems + im) N L\ m

I+ eI - e

9. (5( B T — 35 HB\fé:

Q-3

11.

/_+2 —
~[9-5Vio
13 242 + 35 =
V-5

Solve. If there are no solutions, so state.
. 1C
15. J3z —5 =5

17. V7y + 3 =(31
19. {3 = Tx = 2 >

No solution

Zl.xf3w3+4—2=w,__t£’_ﬁ
-
3. YV — v+ 1=0_ =17
|
25 u:%ﬁu—lﬁ_,:"»’___.
. 0225
27.5(t = WD +3 =3¢+ 1) _ g

2

; BT
3256 + 3 —108 + 103/32 2 ‘ﬁ

VTS — T _3X =d5

(m — Jm? N—=d Jmh + N

W3+ 25 L3 +HVE

—
3y 1= Ve +13¢

10. 33 + YHAM -
H'TFFJF\/{ T_—————d"f‘@
+ 3
G-y 4=RYbt
14'\/&+\/E =D
16. 3 = Y12 + 3a %3;
73
8. V60 + 1 — 2 =0 X! |
T =
20. \/562———4—8 = C\/‘T’l ?z.i% @{%’&m&@u}
22.\/dT—_1§'—2d+11=0_§_{Ej;%M
24, ¢ — 3Je = 10 ?25@ H ewtea,
I R A Y
26. 8f =1 — 2./F ii(a% %{,xm
BAA
28, 22T + § = 327 { —




